Easy Word Problems-3

Sam has 5 pencils. Ben gives Sam 4
more. How many pencils does Sam have in all?

If there are 8 pens in a box and John
puts 3 more pens inside, how many
pens are in the box?

Beth has 2 pears. Jacob has 8
pears. If Jacob gives all of his
pears to Beth, how many pears will
Beth have?

Mary has 6 candles. Jack gives Jesse 3
more. How many candles does Mary have in all?

Will has 3 blocks. Nell has 5 blocks.
If Nell gives all of her blocks to
Will, how many blocks will Will have?

Sam has 6 Legos. She buys 4 more. How many
Legos does Sam have in all?

Sandra collects 2 hats. Sandra's
friend gives Sandra 3 more. How many
hats does Sandra have?

Carl has 5 bananas. She finds another 5.
How many bananas does Carl have in all?

Bill starts with 7 stickers. He buys 5

more. How many stickers does Bill end
with?
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